
Use a ten frame, counters or a number line to work out the 

answers below.   

 

18-4=___                                         20-7=____ 

 

17-5=___                                         15-4=____ 

 

19-6=___                                         16-4=____ 

 

20-8=___                                        18-7=____ 

                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                     

1) Ms Mohamed has 16 grapes. For lunch she eats 

5 grapes. How many grapes does she have left? 

 

2) For her party Lola had 20 balloons. Sadly, 6 of 

the balloons popped. How many balloons were 

left? 

 

3) Miss Adams had 14 apples. She shared 6 of the 

apples with other teachers. How many apples 

did she have left?  


